% VCE & PDF https://lwww.geekcert.com/1z0-072.html
' 2024 Latest geekcert 120-072 PDF and VCE dumps Download
2 GeekCert.com

170-0720%As

Oracle Database 12cR2 Administration

Pass Oracle 1Z0-072 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/1z0-072.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-072 Dumps | 1Z0-072 VCE Dumps | 120-072 Study Guide 1/4


https://www.geekcert.com/1z0-072.html
https://www.geekcert.com/1z0-072.html
https://www.geekcert.com/1z0-072.html

VCE & PDF https://lwww.geekcert.com/1z0-072.html
2024 Latest geekcert 120-072 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which three are true about Oracle Database backup taken with RMAN?
A. A whole backup contains all data blocks of all data files.

B. RMAN cannot backup REDO logs.

C. A full backup contains all data blocks from one or more data files.

D. An RMAN image copy can be written only to disk.

E. Only offline backup are consistent.

F. RMAN always includes the control file in a backup.

Correct Answer: CDF

QUESTION 2

The SCOTT/TIGER user exists in two databases, BOSTON_DB and DALLAS_DB, in two different
locations.

Each database has a tnsnames.ora file defining DALLAS_DB as a service name.

Examine this command:

CREATE DATABASE LINEK dblinkl CONNECT TO scott IDENTIFIED
BY tiger USING ‘dallas db’;

How do you execute the command so that only SCOTT in BOSTON_DB can access the SCOTT schema in
DALLAS_DB?

A. as SCOTT in BOSTON_DB

B. as SYS in both the databases

C.as SCOTT in BOSTON_DB and SYS in DALLAS_DB
D. as SCOTT in both the databases

E. as SCOTT in DALLAS_DB

Correct Answer: D

QUESTION 3
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Which is always true about privileges?

A. Connections as SYSTEM can use only the SYSOPER privilege.

B. Connections as SYS must be made using the SYSDBA privilege

C. System privileges can be granted only to users.

D. The owner of a schema is granted all object privileges within the schema by default.

E. The SYSDBA privilege can be granted to a user or role.

Correct Answer: D

A user automatically has all object privileges for schema objects contained in his or her schema. A user can grant any
object privilege on any schema object he or she owns to any other user or role. A user with the GRANT ANY OBJECT
PRIVILEGE can grant or revoke any specified object privilege to another user with or without the GRANT OPTION of

the GRANT statement. Otherwise, the grantee can use the privilege, but cannot grant it to other users.

Reference: https://docs.oracle.com/cd/B19306_01/network.102/b14266/authoriz.htm#i1010570

QUESTION 4
The DATA tablespace uses Automatic Segment Space Management.

Examine this query and its output:

SQL> SELECT tablespace_name, pct_free
FROM user_tables
WHERE table_ name='EMP';

TABLESPACE NAME PCT_ FREE

DATA 10

A block in EMP is 90% full.

At what percentage of free space will INSERT operations into the block again be possible?
A. 10%

B. 25%

C. 50%

D. 75%
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E. 90%

Correct Answer: A

Reference: https://docs.oracle.com/cd/A57673_01/DOC/server/doc/SCN73/ch3.htm

QUESTION 5
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Your database instance was shut down normally and then started in NOMOUNT state. You then execute this

command:
ATTEE DATABASE MOUNT;

Which two actions are performed? (Choose two.)
A. The control file is read.

B. The online data files are opened.

C. The online redo logs are opened.

D. The Oracle background processes are started.
E. The alert log records the execution details.

F. The initialization parameter file is read.

Correct Answer: AD
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